GAS LAWS
- were derived by experiment long before kinetic theory, but agree with the kinetic picture!
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- a mole of any gas at the same condifions has the same volume.
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A balloon is taken from a room where the temperature is 27.0 C to a freezer where the
temperature is -5.0 C. If the balloon has a volume of 3.5 L in the 27.0 C room, what is
the volume of the balloon in the freezer. Assume pressure is constant.
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2.25 L of nitrogen gas is trapped in a piston at 25.0 C and 1.00 atm pressure. If the piston
is pushed in so that the gas's volume is 1.00 L while the tfemperature increases to
31.0 C, what is the pressure of the gas in the piston? »
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X
Calculate the mass of 22650 L of oxygen gas at 25.0 C and 1.18 atm pressure.
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Use the ideal gas equation, but it has no mass term. What
will we calculate?
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\ Find the number of moles, n ... then use the formula weight
” of oxygen gas to find the mass.
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